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1,2-

1,3-

0.01kPa

3ml/min

- 22 -

1.5 10m




po/m 0.039 0.047 —| 0.048[ 0.061 0.079 — — — —

0.040( 0.043 —| 0.062[ 0.045[ 0.016 — — — —

0.20 0.26 — 0.23 0.22| 0.066] 0.059 — — —

1,2- 0.15 0.17 — 0.19 0.23] 0.043 — — — —
5.6 1.2 — 1.3 27 0.33 0.66 0.94 — —

0.071] 0.078 — 0.11] 0.091] 0.099] 0.073| 0.048 — —

0.030|] 0.044 —| 0.047] 0.049| 0.019 — — — —

1,3- 0.18| 0.098 — 0.29 0.51] 0.068 0.18 — 0.37 0.24
2.3 1.6 — 3.0 5.1 11 15 15 2.8 2.2

10 2.1 2.4 — 2.1 — 2.4 2.7 — 3.3 3.0
11 2.7 2.8 — 3.0 — 5.4 3.7 — 6.0 5.1
12 n/m 1.8 2.9 9.6 — — 3.6 — — — —
13 18 18 22 — — 41 74 80 — —
14 2.2 3.0 6.8 — — 2.7 5.7 4.3 — —
15 2.6 3.0 39 — — 2.9 — 3.1 — —
16 0.057| 0.036( 0.059 — —| 0.073 — — — —
17 1.7 2.0 2.1 — — 2.5 — — — —
18 [a] 0.42 0.22 — 0.39 — 0.16 — — 0.21 0.28
19 0.063| 0.075 — 0.10 —| 0.081 — — — —

u

0. 2mg/m3(200u glma)

0.2mg/m’(200p g/m’)

0.15mg/m’(150p g/m’)
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